Leuze
FAREBER
B FF o<
Bl k4w = 50141476

1SS 212MM/44-8N0

&

- BRSH
- Ry B4
- BRER
- BR

- BENER
- FRESY
- e

- EfH

Em
Sl

i

ﬁ

djo
H

it
B TR C € n®us ‘1-;//
s i

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 1/6



BRI « BF4RS: 50141476 « 1SS 212MM/44-8NO

BRSH

ERE

%5l

SR NBERE S
NS,

n

=it
FITRI
B
MTTF

BB
ks

MR E

fe s U,

FREAE

F i aim
BEER  BA (S WESL)
EERE BA (S WESL)
FAHIE

]
L ESIES - Eohk ot

TR E 4 H
BERE
RAFTREBR
RAFIREHR
BER

FrREHH1
TR
FRERE

FrRBRH2
FrR T
FRERE

Vs
PiE S IES
MR
T
EONE

HEEA1
ThEE

E3id

BAKE
PEME
BYAHE
SEHE
BAOBE

The Sensor People

212
8 mm
0..6.48 mm

EXNE

750 F

AR AR
AR
BREY

10... 36 V, DC
0..10 %, REU,
0..16mA

19%

10 %

20 %

DC

200 mA
0.05 mA
<2V

B15E, PNP
NO (E7F) - R3%

REE, PNP
NC (%H) - R

2,000 Hz
50 ms

14

fites iR
ESmE
=
2,000 mm
PVC

meE

48

0.25 mm?

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

WS

3]

IR

R~ (@xL)
TR
AEMR
EEN=

B AR
#E

AZEE
FERER
ERR
REME R
BRER
LED#

RE R
RERE , I
RERE |, R
TAE

k2]

REEH
INE

& BT EE LMEMCIRTE 7

EIERH

ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ETIM 5.0
ETIM 6.0
ETIM 7.0
ETIM 8.0
ETIM 9.0

info@leuze.com * www.leuze.com
BBi% : +49 7021 573-0 « £ E : +49 7021 573-199

Leuze

B

M12 x 1 mm

12 mm x 50.8 mm
IEFTF

K-

R E

B¥, RRK (PBT)

69 g
3=

iR
RERIBY

24 x 24 mm? , Fe360

LED
14

-25..70°C
-30...80°C

IP 67
Il
cULUS

EN 61000-4-2, -3, -4, -8

0.5
0.7
0.3
0.5

85365080
27270101
27270101
27270101
27270101
27270101
27274001
27274001
27274001
EC002714
EC002714
EC002714
EC002714
EC002714

REBEAREEHRA
chi + 2024-04-12

2/6



BRI « BF4RS: 50141476 « 1SS 212MM/44-8NO

R B Leuze

BRI B AEKRK
A M12x1
+ |
o
®
@,
=)
s}
| —
B— |—
|
~
=
7]
=
BAER
st
IEE HeE R
ESm
E3id) B4
BAKE 2,000 mm
FEMH PVC
BTG =]
SLHBE 45
“OBE 0.25 mm2
TS&EE BE&BIR
wReE V+
B OuUT 2
=) GND
26 OuT 1
Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA

The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 3/6



BRI « BF4RS: 50141476 « 1SS 212MM/44-8NO

Eipap

TP RE

S, [mm] E2RUA 3T FE FRE
d ER/E®

>35S,
d, 2xd , d , d

22Sh

LED S8R
1 #HE KR
®E N5
S IR

mEM . ISXYYY ZZ/AAA.BB-CCC-DDD-DDD

ISX RERE [ ®’it
IS : BRI X |, FRHEIRTT
ISS : BRKITK , |ikit

YYY 3]
203 : @ 3 mm %5l
204 : @ 4 mm %5
205 : i M5 x 0.5 FMELXHI = H R
206 : @ 6.5 mm %%l
208 : i M8 x 1 SMEXM = @R
212 : # M12 x 1 SR~ @R 5
218 : i M18 x 1 JNBLE = R R 5
230 : 7 M30 x 1.5 SMRYH ™= @R
240: FFAZIT R
244: AR R
255 : 5 x5 mm? BERRKFI
288 : 8 x 8 mm? B EMR R
7z S5 /IR
MM : £BAE (BRXE : B ) / AFIIRK
FM : 2&BAR (BRI : THMN AISI 316L ) / AHIEL
MP : €BAFE (BRXE : R )/ AHIIRL

AAA A B / EBIR

4NO : PNP &% E , EFF iR (NO)

4NC : PNP B&#E , EHf2R (NC)

2NO : NPN 2&#%& , B at= (NO)

2NC : NPN B&#%E |, EHAtS (NC)

1NO : 4kegss | I (NO) /AC/DC

1INC : 48E28 | EHA2S (NC)/ AC/DC

44 : 2 PNP aaﬁs“*ﬁ%m:ﬂm R3 (NO +NC)
22 : 2 NPN @&&EFF XM HE , R (NO +NC)

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

The Sensor People

Ui EA

IF R B /T RRAS

info@leuze.com * www.leuze.com

Leuze

REBAREEHRF

BBi% : +49 7021 573-0 « {5 E : +49 7021 573-199  chi « 2024-04-12 4/6



BRI « BF4RS: 50141476 « 1SS 212MM/44-8NO

7= 5 BB R Leuze

BB BHRES
BUH - TR®RES
5F : RmME
5 : SAFE R V2A (1.4305, AISI 303)

CCE METE / REHRX
1E0 : WM ESTEEXE 1.0mm / FFERE
1E5 : WM ESTEEXE 1.5mm / FERE
2E0 : IRFRMESBTEZRE 2.0mm / FFERE
3EO : WPRNESEE R 3.0mm / STERE
4E0 : PR ESBTEERE 4.0mm / FFERE
5E0 : PR ESEEEE 5.0mm / STERE
6E0 : MR ESEEEAE 6.0mm / STERE
8EO : WPRMESEEEAE 8.0mm / STERE
10E : IR ESTEEXE 10.0mm / FFRE
12E : RN ESTERE 12.0mm / FERE
15E : IR ESTEEXE 15.0mm / FFRE
20E : {RFRMESTEZERE 20.0mm / FFERE
22E : MRMESTE A 22.0mm / FFRE
2N5 : BRI ESBEEE 2.5mm / EFFRE
4ANO : RN ESTERE 4.0mm / EFERE
8NO : RN ESBERE 8.0mm / IEFERE
10N : WPRMESEERRE 10.0mm / IEFFFERE
12N : IRFRMESTE SRR 12.0mm / EFFRE
14N : IRFRMESTE SRR 14.0mm / EFFRE
15N : WPRM BSEERRE 15.0mm / IEFTFFERE
20N : R ESBE LA 20.0mm / IEFERE
22N : RN ESTE LR 22.0mm / FFFERE
25N : R ESBE LA 25.0mm / IEFERE
40N : PR ESEERAE 40.0mm / IEFTFERE

DDD B

HUH : 8485, ##KE 2000 mm

S12: M12 EERESR , 4 4t , BF

200-S12 : B4 , KE 200 mm , # M12 EE#ES 4 4, BEF
200-S8.3 : B4 , K 200 mm , # M8 ElE#SE , 34, BEF
S8.3: M8 EERES , 34, BF

005-S8.3 : B84 , K 500 mm , # M8 El&E#2E , 34, BEF
050 : B4 , FOEKE 5000mm , 3 &

L

b AR eERE  REATARRE.
© REERT A SRFAF BB AET.
b EURSE AR A M.

L WTFULNA , RENEC(REERBSME)ERIAAF 2R B AL,

Leuze electronic GmbH + Co. KG info@leuze.com * www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 5/6



BRI « BF4RS: 50141476 « 1SS 212MM/44-8NO

B Leuze

RE RS - ZHEXHR

B trms =L [ Wi
50113549 BT D12M.5 REXR R£E: 12 mm

RERERIT LEAE
BEMEEMF: BARE
FEMEEL: R
REREXRE: QY

L TEW
1
ZERS - Hfty
BHms =4 [T 1A
50111499 MC 012K *xEB RE: 12 mm

BIEIRF R BEX
BEMEEH: BILRE
EEMNEEH: AIRE
RERIRZRA: NI
M B

50111500 MC 012K-LS *xEB A£E: 12 mm
RIRIRE R BEX
BEMEEH: BILRE
FEM EE M KimIE ARk
TERIRZRA: NI
ME: R

Y FRA A AEFRI SR E NS 5 A RSB A (E S TUE K T 8IET .

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 6/6



